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(Q.No.1t03)

In the following questions, four alternatives are given for the meaning of the given
Idiom/Phrase. Choose the alternative which best expresses the meaning of the
Idiom/Phrase.

To play second fiddle

A)  Tobehappy, cheerful and healthy

B) To reduce importance of one's senior

C) To support the role and view of another person
D) Todobackseat driving

A man of straw

A) Aman ofno substance
B) Anuglyperson

C) Aluckyperson

D) - None of these

To hit the nail right on the head

A) Todotheright thing

B) To destroy one's reputation
C) Toannounce one's fixed views
D) To teach someone a lesson

(Q. No. 4 to 6)

In each of the following questions, sentences are given with blanks to be filled in with an
appropriate word (s). Four alternatives are suggested for each question. Choose the
correct alternative given and indicate your choice for the correct answer.

Ifhe had goneto Agra, he the Taj Mahal.
A) havebeenseen
B) Saw

C) hadbeenseen
D) wouldhave seen

Having in both government and private schools, Palak is the most suitable
person to take over as the principal of the school.

A) works

B) working

C) worked

D) wasworking

(Set-A) | G | [P.T.O.



6. Theboy __came to see me this morning had come from Mumbai.

A)  Whom
B) Who

C) Could
D) Would

(Q.No.7t09) _ .

In each of the following questions, words are given with four alternatives suggested for
each question. Choose the correct Synonyms given and indicate your choice for the
correct answer.

7. ASSIST
A)  Acquire
B) Restrict
C) Injure
D) Facilitate

8. Pious
A) Religious
B) Sympathetic

C) Afraid
D) Faithful
9. Pacify
A)  Gather
B) Allot
C) Cam
D) Remit:
(Q. No. 10 to 12) ' S

In each of the following questions, words are given with four alternatives suggested fo
each question. Choose the correct Antonyms given and indicate your choice for the
correct answetr.

10. Transparent
A)  Transhicent

B) Vague

C) Blind

D) Opaque
11. Extrovert

A)  Introvert

B) Boaster

C) Mixer

D) Social

" (Set-A) )
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12.

13.

14.

15.

16.

17.

18.

Genuine
A) Bogus
B) Rotten
C) Impure
D) - Unsound

Find the correct spelling from the following alternatives (Q. No. 13 to 15)
A)  Accountancy

B) Acountancy

C). Acoountancy

D) Acounttancy

Find the correct spelling from the following alternatives
A) Cassettee '

B) Cassette
C)  Cassatte
D) Cassete

Find the correct spelling from the following alternatives
A) Influenza

B) Influenga
C) Inflluenza
D) Influanza

Which of the following Country is not a BRICS?
A) Indonesia

B) India
C) SouthAfrica
D) Russia

Olympics Games 2024 were held in
A) Berlin, Germany

B) Paris, France

C) Beijing, China

D) Seoul, South Korea

The mysterious Bermuda Triangle is located in
A) Indian Ocean
B) North Atlantic Ocean

- C)  South Pacific Ocean

D) Airctic Ocean

(Set-A) )
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19. is the national currency of New Zealand.

A)  Kwanza
B) Dinar

- C) Pound
D) Dollar

20. is the national currency of Bhutan.

A) Rupee
B) Dinar
C) Yuan
D) Ngultrum

21. Nestled amidst the Himalayas, which city serves as the capital of Nepal?
A) Dhaka '

B) Colombo
C) Kathmandu
D) Thimpu

22. Home to the Kremlin and Red Square, what city Sei'vés as the capital of Russia?

A)  Moscow
B) Kiev

C) Warsaw

D) Istanbul

23. In2024, Nobel Prize in Literature has been awarded to
A) HanKang ]
B) David Baker 1
C) John Jumper
D) Demis Hassabis - o ‘ |

24. Laver Cup is related to which sport?

A)  LawnTennis 1
B) Table Tennis _ _ . 1
0  Golf |

D) Basketball

(Set-A) : ©®
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25.

26.

27.

28.

Recently, which of the following tennis player has announced his retirement?
A) Rafael Nadal

B) NovakDjokovic

C) Jannik Sinner

D) CarlosAlcarez

How many districts are there in J. ammu and Kashmir?

A) 18
B) 19
) 21
D) 20

Which of the following is not a district in Jammu and Kashmir?

A) Ananimag
B) Kargil
C) Reasi

D) Samba

Utterbehni of J &K, a religious place situated on the bank of legendary Devika is located
o ,

A) Samba
B) Reasi
C) Ganderbal
D) Shopian
29. Ramnagar Fort, believed to have been built by Raja Suchet Singh is located in which
' district of J&K?
A)  Udhampur
B) Reasi
C) Samba
D) Kupwara
30. Which country collectively won the most medals in 2024 Olympics?
~A) Australia
B) China
C) UsA
D) Russia
(Set-A) @) , [P.T.O.




31.

32.

33.

34,

35.

36.

(S.et~A) ()
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A part of tank is fufl of water. When 30 litres of water is taken out it becomes empty

The capacity ofthe tank is?
A) 40

B) 42

C) 48

D) 44

The sum of four consecutive integers is 1290. The greatest of them is?
A) 321 ’
B) 322
C) 323
D) 324

A boy was asked to multiply a number by 12. But he multiplied by 21 and got his answer
63 more than the correct answer. The number to be multiplied was

A) 8

B) 11

C)y 6

D) 7

Average of 3 numbers is 87. The 1% number is 4 times the 2" number and 5 times the 39

. number. What will be difference between first and third number?

A 121
B) 144
C) 125
D) 196

‘What will come in place of the question mark (‘?) in the following question?

112.36 +225.05 + ? = 815.30
A) 421.55

. B) 487.55

C) 477.89
D) 489.70

If the sum of a number and its square is 272, What is the number?
A) 14
B) 16
C) 36
D)y 21
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37.

38.

39.

40.

41.

42.

A person sold a stove for Rs. 423 and incurred a loss of 6%. At what price would it be
sold so as to earn a profit of 8%7

A) 525

B) 621

C) 444

D) 486

A sells a car to B at 10% loss. If B sells it for Rs. 54,000 and gains 20%, the cost price
ofthe car forAwas

A) Rs. 48,000

B) Rs. 57,000

C) Rs. 50,000

D) Rs. 51,000

The ratio of cost price and selling price is 4:5. The profit percent is
A 125%

B) 17.5%

C) 25%

D) 37.25%

If a person sells a 'sari' for Rs. 5,200, making a profit of 30%, then the cost price of the
sari is o

A) Rs. 4210

B) Rs. 4780

C) Rs. 4000

D) Rs. 4900

If Ram and Shyam together can build a house in 10 days; Ram and Arun can build it
together in 12 days and Shyam and Arun can build it in 15 days. Shyam, Ram-and Arun
start working together. In how many days they build the house?

A) 4 -

B) 6

C) 8

D) 10

P and Q together can do a work in 18 days. P alone can do the same work in 27 days. In
how many days can Q alone do the same work? '

A) 54

B) 47

Cy 36

D) 74

(Set-A) o [P.T.O.




43.

44,

45.

46.

47.

48.

Ajay and Vijay travel from A to B at 17 knv/hr and 19 km/hr, respectively. A is 72km away

from B. Vijay reaches B first and returns immediately and meets Ajay at C. Find Bto C
distance?

A 10
B) 4
C) 14
D) 6

A car is running at a speed of 90 kmph. What distance will it cover in 15 second?

A) 375m

B) 357m
C) 575m
D) 755m

What is the possibility of having 53 Thursdays in anon-leap year?
Ay 517
By 2/7
Cy 6/7
Dy 1/7

‘What will be the possibility of drawing a jack ora. spade froma well shuffied standard
deck of 52 playing cards’?

A)  4/13
B) 12/13
0 512
D) 6/7

Age of Umesh will be 4 times the age of Reena in 6 years from today. If ages of

Umesh and Mahesh are 7 times and 6 times the age of Reena respectively, what is present

- age of Umesh?

A) 42
B) 24
C) 48
D) 84

The average age of 10 students and their teacher is 15 years. The average age of the first
seven students is 15 yr. and that of the last three is 11 yr. What is the teacher's age?

A 21
B) 25
) 27
D) 28

(Set-A) (10)
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l 50.
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51.
’ 52.
|
|
|
!_
L
i

53.

F 54,

(Set-4)

Ram and Shyam's average age is 65 years. The average age of Ram, Shyarri and John is
53 years. What is the age of John?

A 29
B) 28
o 27
D) 31

The present ages of Aman and Nina are 59 and 37 years, respectwely What was the ratio
of the ages of Nina and Aman 13 years ago?

A) 23
B) 3:7
C) 12:23
D) 23:12

Which of the following is a conventional source of energy?
A) Solarenergy

B) Windenergy

C) Coal

D) Biomass energy

Which non-conventional energy source is harnessed using photovoltaic cells?
A) Windenergy

B) Biomass energy

C) Solarenergy

D) Tidal energy

What is the primary disadvantage of conventional energy sources?
A) They arerenewable and unlimited

B) Theyarenon-polluting

C) They cause pollution and environmental degradation

D) Theyarenotwidely available

Non-conventional energy sources are also referred to as
A) Renewableenergy sources

B) Fossil fuels

C) Non-renewable sources

D) Nuclearenergy

1) " [P.T.O.




55. Ifthe angle of incidence is 0°, the angle of reflection is

NI

B) 30 5
C) 45
D) 90° j

56. The law of reflection states that _
A) Theangle of incidence is greater than the angle of reflection
B) The angle of incidence is equal to the angle of refraction
C) The angle of incidence is equal to the angle of reflection
D) The angle of reflection is always 90°

37. The bending oflight as it passes from one medium to another is called
A) Reflection |
B) Refraction
C) Diffraction
D) Dispersion

58. Which of the following is the correct SI unit for resistance? .

A) Ampere
B) Vol
C) Ohm
D) Watt

59. The unit of current is

A) Ampere

B) Vol

C) Ohm

D) Wait ' O

60. Ozone depletion primarily occurs in which layer of the zitrnosphere‘? =
A) Troposphere '
B) Stratosphere
C) Exosphere
D) Thermosphere

(Set-A) 12)
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61.

62.

63.

64.

65.

66.

Which type of waste is biodegradable?
A) Plastic bottles ‘

B) Electronic wastes

C) Foodscraps

D) Metalcans |

Acid rain is caused by the emission of

A)  Carbon monoxide

B) Sulphur dioxide and nitrogen oxides
C) Methane

D) Ozone

What is the term used for the release of harmful substances into water bodies?
4A) Eutrophication

B) Bioaccumulation

C) Water contamination

D) Acidrain

Which of the following is an example of a non-communicable disease?
A) Tuberculosis

B) Hepatitis

C) Diabetes

D) Influenza

Which of the following is NOT a characteristic of communicable diseases?
A)" They can be spread from one person to another

B) They are caused by pathogens like bacteria, viruses, or fungi

C) They are non-infectious

D) They canbe prevented with vaccines

Which of the following is a characteristic property of metals?
A)  Poor conductors of heat and electricity

B) Brittle in nature

C) They donotreact with acids

D) Malleable and ductile

(Set-A) (13) " [P.T.O.




67.

68.

69.

70.

71.

72.

Which of the following is a non-metal?

A) Copper
B) Oxygen
C) Iron

D) Silver

Which of the following metal is liquid at room temperature?

A)  Gold

B) Mercury
C) Iron

D) Lead

Which of the following non-metals exists as a solid at room temperature?
A) Phosphorus

B) Chlorine
C) Oxygen
D) Carbon

The element that is essential for plant growth and is found in fertilizers is

A) Nitrogen
B) Hydrogen
C) Oxygen
D) Carbon

The Quit India Movement was launched in which year?

A) 1930
B) 1942
C) 1946
D) 1925

The first session of the Indian National Congress washeld in which city?

A) Bombay
B) Bengal

C) Karnataka
D) Saurashtra

(Set-A) a4
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73.

74.

75.

76.

77.

78.

The Jallianwala Bagh massacre took place in which year‘?

A) 1915
B) 1917
¢ 1921
D) 1919

The Swadeshi Movement was launched in response to which event?
A) Jallianwala Bagh massacre

B) Partition of Bengal

C) SaltMarch ‘

D) Non-Cooperation Movement

Who is known for the slogan "Swaraj is my birthright"?
A) Mahatma Gandhi

B) BalGangadhar Tilak

C) LalalajpatRai

D) SubhasChandra Bose

Who was appointed to draw the boundary line between India and Pakistan in 19477
A) Lord Mountbatten
B) Jawaharlal Nehru

C) Sir Cyril Radeliffe

D) MuhammadAli Jinnah

Who was the last British Viceroy of India at the time of partition of India?
A)  Lord Mountbatten 7 \

B) Lord Wavell

C) Lord Minto

D) Lord Bentick

‘What is the latitude of the Equator?
A O

B) 90N

C) 235N

D) 180°

(Set-A) (15) | [P.T.O.




79. The Prime Meridian passes through which city?

A) Paris

B) London

C) NewYork

'D) Beijing |

80. The South Pole is located at which latitude? ‘!j

A O o

B) 90°S

C) 235N ‘%

D) 180°

81. Whichtype of farming involves'the growing of crops for sale in the market, rather than
for personal consumption?

A) Subsistence farming
B) Commercial farming
C) Terrace farming

D) Horticulture

82. Which of the following is a characteristic of subsistence farming?
A) ' Large scale production for export '
B) Highuse of machinery
C) Primarily for personal consumption
D) Heavy use of chemical fertilizers and pesticides

-83. Which type of farming involves the growing of fruits, vegetables, and flowers, primarily
for market sale?

A) Horticulture

B) Mixed farming
C) Dairy farming o 9
D) Commercial farming ' :

/]

84. Which of the following is an example of plantation farming?
A)  Growing corn in small plots
B) Growing coffee, tea, or rubber on large estates
C) Small-scale farming of rice and vegetables
D) Mixed farming with both crops and livestock

(Set-A) 6
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85.

86.

87.

88.

89.

90.

What is the primary characteristic of a-federal system of Govemment‘?

A)  Central government holds all the power

B) Power is divided between central and regional governments

C) Regional governments hold all the power
D) Only one level of government exists

A)  Extraction of raw materials from nature
B) Manufacturing of goods

C) Providing financial services

D)  Service-based industries

Which of the following industries falls under the secondary sector?

A)  Farming
B) Mining
C) Teaching

D) Textile manufacturing

Which sector i5 responsible for the production of services rather than goods?

A)  Primary sector
B) Secondary sector
C) Tertiary sector
D) Quaternary sector

Which type of soil is best for cotton cultivation in India?
A) Redsoil

B) Blacksoil

C) Saline soil

D) Alluvialsoil

Which of the following is a characteristic of saline s0il?
A) High salinity and poor drainage

B) Richinnutrients

C) High organic content

D) Fertile and dark in color

(Set-A) ~ an

- Which of the following is a characteristic of the primary sector of the economy?
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91.

92.

93.

94,

95.

(Set-A)
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Book is to Reading as Fork is to

A)
B)
C)
D)

Drawing

Writing

Eating

Sleeping

Clock is to Time as Thermometer isto

A)
B)
C)
D)

A

Temperature

Speed

Pressure

Distance

Ifin a certain code, "APPLE" is written as "BQQMEF", how is "MANGO" written in that

code?
NBOHP
B) NBHNP
C) OBNHP
D) NBOHQ

A person walks 10 meters to the North, then 5 meters to the East, then.10 meters to the
South, and finally 5 meters to the East. [n which direction is the person now from the

starting point?
A) North
B) South
C) East

D) West

If a person walks 10 meters East, then 5 meters North, then 10 meters West, and finally
5 meters South, where is he now in relation to his starting point?

A)
B)
)
D)

North-East
South-West

At the same point
North-West

(18)
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96. A person starts walking from a point. He walks 10 meters North, then turns to his left
and walks 20 meters. Then, he turns right and walks 10 meters again. In which direction
is he from the starting point?

A)  North-west
B) South-east
C) North-east
- D) South-west

e

- 97, IfAisthe father of B, and B is the brother of C, then how is A related to C?
| A) Father
B) Uncle
E C) Mother
| D) Brother

|
;
ﬁ
E
|

~

98. A woman is looking at a picture. A man asks, "Who are you looking at?" The woman
replies, "Brothers and sisters ,  have none. But the father of the person in the picture is
my father's son." who is in the picture? '

A) Herson

B) Her father
@) | Her brother
D) Heruncle

99. Amansaystoawoman, "Your mother is my daughter.” How is the woman related to the

man?

A) Sister

B) Grand daughter
C) Mother

D) Wife

100. Pointing to a woman, A says, "She is the wife of my brother's son." How is the woman

related to A?

A) Daughter-in-Law

B) Sister

C) Mother : o,
D) Wife '

(Set-A) a9 . PIO




101. Active listening involves

A)
B)
C)
D)

Waiting for your turn to speak
Judging the speaker 's opinions immediately
Giving full attention and understanding the message

Ignoring the speaker and focusing on your response

102. Why is workplace safety important?

A)
B)
©)
D)

It increases productivity
It reduces the risk of injuries and accidents
It improves employee morale and job satisfaction

All of the above

103. Which of the following can result from ignoring workplace safety?

A)
B)
0)
D)

Increased worker productivity
Higher insurance costs
Improvéd team collaboration

Reduced employee turnover

104. A workplace safety culture focuses on

A)
B)
C)
D)

Protecting workers from harm
Encouraging unsafe behaviour
Minimizing safety measures to reduce costs

Focusing only on physical safety

105. Whatis an occupational hazard?

A)
B)
C)
D)

(Set-A)

A job that requires long working hours

A condition that could cause harm or injury in the workplace

A type of training for employees

A promotion within the company
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106. Which ofthe following is a chemical hazard?
A) Welding fumes

B) Poorlighting
C) Slippery surfaces
D) Overexposure to loud noise

107. Ergonomic hazards are primarily associated with
A)  Working in extreme temperatures
B) Poor posture or repetitive motion
C) Exposure to chemicals
D) Slippery floors

108. What is the main purpose of the ISO 9000 series of standards?
A)  Toensure environmental safety
B) To ensure product quality and customer satisfaction
C) Toregulate financial audits
D) Tostandardize organizational behaviour

109. What does BIS stand for?
A) Bureau of International Standards
B) Bureau of Indian Standards
C) Bureau ofIndustrial Standards
D) Bureau of Information Systems

110. The primary purpose of the Factories Act , 1948 is to
A) Regulate trade unions in factories
B) Provide a framework for labor wages
C) Ensure health, safety, and welfare of workers in factories-
D) Control factory production output

111. According to the Factories Act, 1948, overtime wages should be paid at
- A) The basic hourly rate '
B) Double the ordinary rate of wages
C) The samerate as regular working hours
D) Halfthe regular hourly rate

(Set-A) @
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112. Inthe metric system, what is the base unit of volume?
A) Kilo meter '
B) Gallon
'C) - Ounce
D) Cubic meter

113. A liquid has a volume of 0.5 liters. What is the equivalent volume in milliliters? ]
A} 500 milliliters
B) 50 milliliters
C) 5000 milliliters
D) 5 milliliters

114. What is the conversion factor between kilometers and miles?
A) 1km=0.621 miles
B) 1km=1.609 miles
C) 1 mile = 1.609 kilometers
D) 1 mile=0.621 kilometers

115. Who was the first Indian to win the 'Miss World' title?
A) Persis Khombatta - '
B) Ajshwarya Rai
C) RitaFaria
D) Naina Balsavar

116. Which ofthe following is NOT a common air poliutant?
A) Chlorofluorocarbons (CFCs)
B) Carbondioxide
C) Nitrogen oxides
D) Sulphur dioxide

117, Whatis the term used for pollutants that are produced naturally, such as volcanic ash and
pollen?

A) Primary pollutants
B) Secondary pollutants
C) Biodegradable pollutants

D) Non-point source pollutants
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118. Which of these pollutants contributes to the greenhouse effect?

A)
B)
9
D)

Carbon dioxide ‘ ‘
Nitrous oxide

Methane

All of the above

119. What does paralinguistic refer to in non-verbal communication?

A)
B)
C)
D)

120. Which of'the following is NOT an example of non-verbal communication?

A)
B)
C)
D)

(Set-A)

The words used in speech

The facial expressions accompanying speech
The tone, pitch, and speed of speech

The physical gestures accompanying speech

Body language
Written texts
Hand gestures
Facial expressions

(23)
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